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PAI7IVbE 5.5% EHEBE 2.376 g/cm?3

No B WMEOHE | ERETVE | BNTEE
1 (g/cm?) (%) (mm) (El/mm)
1 2.376 100.0 1.51 3500
2 2.371 99.8 1.29 3500
3 2.381 100.2 1.78 3150
15 2.376 100.0 1.53 3320
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RAMOEE ERETRI7ILNEA(13)
RAMOBETE 2.376 (9/cm?)
INA S DIESE BRI 7IVNTE
P2I7IVNE : 5.5 (%)
gEsormsm Q.20 D215 3. RBYR REFM C,=1.0
B LHEE 686 N BHME  0.63 MPa
HBEE 60 C EFEM 2520 E
wanr Q. o509D 2. F1-vk BERE G=1.0
HEREONoO. 1 2 3 15
DREEDTE @/cm®| 2.376] 2.371 2.381] 2.376
OHEDFHEDE %) | 100.0| 99.8] 100.2] 100.0
® da 1.88] 18] 212
8 (mm) @ dus 2.05| 1.83] 2.38
® deo 223 2.01| 2.58
OLEBNOE 5-@ 08| o0.18] 0.20[@ o0.19
OMMEERDS) |ps=15+42+CixC2/ | 3500|3500 3150
(E,/mm) ©
OHIEHIRTERE (DS) | DS =15%42%C%C.,/ 9 3320
(|, mm) @
OFHEEDEDTH (©-®)? 32400] 32400] 28900
DI S=(x®/n-1)1"2 ® 216
DEET (%) %) 6.5
EEVE (%) do 151  1.29] 1.78] 153
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SAERBFRS [42] DO DS RD
PSRN, 0 ‘ 5 10| 15 | 30 | 45 | 60 rml | [E/mm] | /4

No. 1 0.00 0.1 1.06 1. 31 1.52 1. 88 2.05 2.23 1.51 3500.0 0.0120
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R 4] DO DS RD
B EANo. 0 ‘ 5 101 15 f 30 | 45 | 60 tml | [E/mm | w4
No. 3 0.00 | 0.61 | 1.23 | 1.66 | 1.83 | 2.12 | 2.38 | 2.58 1.78 | 3150.0 | 0.0133
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